5™ — 6™ grades 2016

5™ _ 6™ Grade
Regional Math Meet Tests
2016

- Individual Problems
- Event 1: Problem Solving (No Calculator)
- Event 2: Problem Solving (With Calculator)
- Event 3: Mathematical Reasoning
- Event 4: Mental Math

- Team Problems
- Event 5: Team Problems

- Tie Breaker Question



5t — 6™ grades 2016

Name:

School Team:

answer| /
Event 1: Computations Without Calculator- 20 points total oy T
Part I (2 points each)

Remember to simplify all fractions if able!

1.

—5+410(6 — 14)
—300 E

412 103

o i

17 51
16-82+14+7

. Give the reciprocal of 3;



5™ — 6™ grades 2016

Name: School Team:
answerl /
Event 1: Computations Without Calculator- 20 points total T
Part II (2 points each)
1. 6.53x7
2. 39.24 +3

3. Find what ?is if = = =2

4. Find 75% of 3.5

5. If x =3 and y =4, find xy — (3x + 2y)



ades 2016

Jame: School Team:

Circle your final \

answer!

*vent 2: Computations With Calculator- 25 points total
Consumer Math (5 points each)

1.

A woman wants to purchase a pair of shoes for $18.69. If sales tax is 5.7% and she pays
with a $20 bill, find the amount of change the clerk should give. Round all amounts to
the nearest cent.

Plan A phone company charges $35 per month plus 2 cents for each text message. Plan
B phone company charges $25 per month plus 5 cents for each text message. Assuming
an average of 30 days in a month, if you plan to send 10 text messages per day which is

the better plan?

Brand C cereal is sold in two different sizes. Large boxes hold 18.4 ounces and sell for
$4.27. Small boxes hold 16.2 ounces and sell for $3.87. Which is the better buy, a large
box or a small box?

For every $15 that a company earned during the month of February, it kept $12 and the
rest was given to charity. If $1500 was given to charity, how much money did the
company make?

. An “All You Can Eat” buffet charged $14.97 per adult and $11.93 per child. It also

charged $10 per kilogram of food, or part thereof, wasted. The bill for a table of 6 adults
and 2 children was $133.68. What was the maximum possible weight of the food wasted
by this table?



_ades 2016

me: School Team:

Event 3: Mathematica] Reasoning With Calculator- 35 points total

answer!
Part I: Geometry {7/ points each) '

Remember to use labels when appropriate

1. Find the area of the figure below.
14m

S5m

6m

6m
Im

I15m

2. Find the area of the shaded region.

A - ;
lecm

7ecm

e C
| 10 cm - |

3. The rectangle below has an area of 60cm>. Find the area of the shaded region.

fem
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Name:

School Team:

Event 3: Mathemati 5] Reasoning With Calculator- 35 points total

Circle your final

answer!

Part I1: Geo™Ziry (7 points each)
Kemember to use labels when appropriate

4. You have two rectangular tanks as shown below. Container A is filled with water, then all

the water in Container A is poured into Container B. Find the height of the water in
Container B.

10 cm

6em 12 cm

6cm

Container A Container B

5. A rectangular tank was filled with water to a depth of 12cm. The solid metal box shown
below was then placed in the tank. Find the new height of the water in the tank.

20 em

A

B
o

30 cm



5™ - 6" grades 2016

Name: School Team:;

Event 4: Mental Math (no calculator)- 20 points total
(2 points each)

Example:

1)

2)

3)

4)

5)

6)

7)

8)

9

10)




5™ _ 6™ grades 2016

Name: School Team:

Circle your final

\

{

answerl
Event 5: Team Problems (with calculator)- 100 points total \v’/
Part 1: Measurement and Logical Reasoning (8 points each)

Remember to label as necessary!
1. An alien planet has landed in your classroom. He loudly and proudly explains that he is
15 glocks tall. You measure him and learn that he measures 3 feet, 9 inches tall.

a) How many inches are in 1 glock?

b) How many glocks are in 1 inch?

¢) The alien has a brother who measures 18 glocks in height. Find the alien brother’s
height in inches.

d) The alien informs you that he expects to be 20 glocks tall when he reaches his full
adult height. How many feet and inches does he have left to grow?

e) You measure the alien’s spaceship and find it to have a circumference of 36 feet.
What is the circumference of the alien’s spaceship in glocks?



5t _ 6™ grades 2016

Name: School Team:

Circle your final
\ answer!
Event 5: Team Problems (with calculator)

Part 2: Probability (5 points each)

Remember to simplify all fractions if able!
2. A deck of cards typically has 52 cards in four suits: Hearts, Diamonds, Clubs, and
Spades. Hearts and Diamonds are red; Clubs and Spades are black. Each suit has 13
cards: 1 each of the numbers 2-10, a jack, a queen, a king, and an ace.

a) What is the probability of randomly selecting a black 47

b) What is the probability of randomly selecting a black card?

¢) Alex selects two black cards and removes them from the pile. What is the probability
that the next card he selects will be red?

d) Kendra removes 8 cards from the pile. 2 of them were Clubs, 4 were Hearts, and 2
were Diamonds. What is the probability that the next card she selects will be a Club?



5" _ 6" grades 2016

Name: School Team:

Circle your final

answer!

Event 5: Team Problems (with calculator)
Part 3: Ratios (5 points each)

Remember to simplify all ratios if able!
3. At abus stop, there are 14 men, 12 women, 5 girls, and 3 boys.

a) What is the ratio of the number of children to the number of adults?

b) What is the ratio of the number of women to the number of boys?

c) If some more girls arrive at the bus stop and the ratio of the number of adults to the
number of children is now 2:1, find the number of girls who arrived.

d) All of the people originally at the bus stop board a bus. The ratio of the number of
men to the number of women to the number of children on the bus is 3:2:1. If there
were no children already on the bus, find the smallest number of men that could have
been on the bus before the new people boarded.



5™ _ 6™ grades 2016

Name: School Team:

Event 5: Team Problems (with calculator)

Part 4: Percent Problem Solving (5 points each)

a) 20% of a class of 40 students play volleyball, 15% of the class plays basketball, 35%
of the class plays football and 50% of the rest of the students play soccer. If no
student plays 2 sports, how many students play soccer?

b) Tyrone has 20% more balloons than Riyah. If Tyrone gives 10 balloons to Riyah,
they will have the same number of balloons. How many balloons does Riyah have?

c) August and Gavin collect toy cars. August has 320% more toys cars than Gavin. If
Gavin has 60 toy cars, how many toy cars does August have?

d) Madlyn has 15% more flowers in her garden than April has in her garden. If Madlyn
has 46 flowers in her garden, how many flowers does April have in her garden?



5th_ gt grades 2016 K I y

Name: School Team:
Clrcle your final
answer)
Event 1: Computations Without Calculator- 20 points total
Part I (2 points each)

1. =5 +10(6 —14) = =510 (-%)

=~ § £%0

p 300 BT 3 a0
412 103 107 103

3 F aan,]

4, 16-82+14+7 = ~Lbtd: @

5. Give the reciprocal of 3%

5 2k
3’;;—-3:



5t — g% grades 2016

Name: School Team:

Circle your final
answer!
Event 1: Computations Without Calculator- 20 points total

Part IT (2 points each)

1. 6.53%7
L sy
s, 45

2. 39.24+3 13.0% @
313424

3. Find what ?isif 5 = =2 4,04 15 @
TANCREY

V4
4. Find 75% of 3.5 45
5 c
RS 262
31
715
/{/1_’5"

1-}3\/’b/
5. Ifx =3 and y =4, find xy — (3x + 2y)
244~ (g,g+1.q>:\1—Cq-+5)
= J2-17
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Name: School Team:

Circle your final
answer!
Event 2: Computations With Calculator- 25 points total

Consumer Math (5 points each)

1. A woman wants to purchase a pair of shoes for $18.69. If sales tax is 5.7% and she pays
with a $20 bill, find the amount of change the clerk should give. Round all amounts to
the nearest cent. 1%,63 +1,6F = 9 "}g

(,053 » B1g 692 106523 -
'D ' g\o'lql}():,g%

2. Plan A phone company charges $35 per month plus 2 cents for each text message. Plan
B phone company charges $25 per month plus 5 cents for each text message. Assuming
an average of 30 days in a month, if you plan to send 10 text messages per day which is

thebetterplag-;m()’ L 35, ,QL(IO)CSQZLH @
Pt 2T+ S(E)(30)= Yo

3. Brand C cereal is sold in two different sizes. Large boxes hold 18.4 ounces and sell for
$4.27. Small boxes hold 16.2 ounces and sell for $3.87. Which is the better buy, a large

box or a small box? 4,17 i
2l s L LE.*-':'—)Q,\JJ L is 4 =, 3)_0(,?.. \
Tid Lo | Lar32 %
0nas oY . g |
\ )MD..\\ l_’)i}"ﬁ' —-ll-{'-"'z ek 123553

4. For every $15 that a company earned during the month of February, it kept $12 and the
rest was given to charity. If $1500 was given to charity, how much money did the

company make? SO0 1S SHY & oS G.Qfg
e ST(he) = H 7500

D
(C¥asoo
5 An “All You Can Eat” buffet charged $14.97 per adult and $11.93 per child. It also

charged $10 per kilogram of food, or part thereof, wasted. The bill for a table of 6 adults
and 2 children was $133.68. What was the maximum possible weight of the food wasted

by this table? 1442 (b> 5 \\F13<2> =) BL)S/ /}il’,\o =2

-

1753 (g - 13,6820 @

So Yz Compenty
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Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

Circle your final
answer!
Part I: Geometry (7 points each)

Remember to use labels when appropriate

1. Find the area of the figure below.

l*ﬁ* 14m ‘ _ L
\. GO mt b 35m" 4 Bm™ =

1
Sm{1on r'J\QM : | o

\Smt | Im

2. Find the area of the shaded region. g A

A s D H(Qa\ oxv ”'osr.»m - Rtao’ ©

= . . _L ({ )(BLM)'-
[0cm: Fem —7 L7 -

A5 Jom G /
] L P
j Q‘O Cpa ~ \5 M

il 7 cm
gh t 3 /

10em —— |

3. The rectangle below has an area of 60cm?®. Find the area of the shaded region.

T L0752l
ﬁ(‘&c\ ot S\'w\M } ﬁ(gc\ D' Acea A0
(00 le - % C% c&)(%m} o
(Ot -2Dem =

Sem
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Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total

Circte your final
. answer!
Part II: Geometry (7 points eacl)

Remember to use labels when appropriate

4. You have two rectangular tanks as shown below. Container A is filled with water, then all
the water in Container A is poured into Container B. Find the height of the water in
Container B.

Xw

Volume! K%XSXX>CMV

Sem 60x e’
6cm

6 cm (OOXC"‘B: 360&/»’\3

Container Container B

Vdlyme Abrbr N = Yden x= (,CM

10cm

5. A rectangular tank was filled with water to a depth of 12cm. The solid metal box shown
below was then placed in the tank. Find the new height of the water in the tank.

E

10 em 75 an

‘\!g\dmt ’BO%Q_OC L= (o0 U‘"Z
he ' i N l_/’—"]

e e tunl ¥ bo0c”

B Since, e T oE hetf
/ \ i 3 K\:‘)"—) §

\1 gr.nér D;\:L cm Whe Vot il alie The Waks

z Fse 4 Cm

-
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Name: School Team:

Event 4: Mental Math (no calculator)- 20 points total
(2 points each)

Example: 9\3 ( Ne l‘.) .;n.\(\'\';)
1) 4

2) \Soml

3) ‘AN0OO
il

) el

. 3l

6)

7)

5]
r
" 43
o
05

9

10)




5t — 6" grades 2016

Name: School Team:

Clrcle your final
answer!
Event 5: Team Problems (with calculator)- 100 points total

Part 1: Measurement and Logical Reasoning (8 points each)

Remember to label as necessary!
1. An alien planet has landed in your classroom. He loudly and proudly explains that he is
15 glocks tall. You measure him and learn that he measures 3 feet, 9 inches tall.

- i 0 - S
a) How many inches are in 1 glock? 3%’ A, E Fhathin 1374

TT—

|5 alocis =7 4 in
S ?\UL\'\S —> 15_1"‘ ,B L)
) i T 'n
Jgloct =7 2
b) How many glocks are in 1 inch? J

¢) The alien has a brother who measures 18 glocks in height. Find the alien brother’s
height in inches. UE 2or24= 54

d) The alien informs you that he expects to be 20 glocks tall when he reaches his full
adult height. How many feet and inches does he have left to grow?

10~ ]S_ = 5" 3}476("\5 IQH' Hﬂmw

§x3=15
15 in 1 18T, 30a
e) You measure the alien’s spaceship and find it to have a circumference of 36 feet.
What is the circumference of the alien’s spaceship in glocks?

34 gy = Manx36 7 1320

S
S/
e

M ™

(\H"\ S\OCYw j}% = 44



5% — 6t grades 2016

Name:

School Team:

Event 5; Team Problems (with calculator)

Circle your final

Part 2: Probability (5 points each)

Remember to simplify all fractions if able!
2. A deck of cards typically has 52 cards in four suits: Hearts, Diamonds, Clubs, and
Spades. Hearts and Diamonds are red; Clubs and Spades are black. Each suit has 13
cards: 1 each of the numbers 2-10, a jack, a queen, a king, and an ace.

a) What is the probability of randomly selecting a black 47

b)

d)

pA

P -

ok

What is the probability of randomly selecting a black card?

Alex selects two black cards and removes them from the pile. What is the probability
that the next card he selects will be red?

Kendra removes 8§ cards from the pile. 2 of them were Clubs, 4 were Hearts, and 2
were Diamonds. What is the probability that the next card she selects will be a Club?




5% — 6 grades 2016

Name: School Team:

Circle your final
answer!
_d'/

Event 5: Team Problems (with calculator)
Part 3: Ratios (5 points each)

Remember to simplify all ratios if able!
3. At abus stop, there are 14 men, 12 women, 5 girls, and 3 boys.

a) What is the ratio of the number of children to the number of adults?

%IFD\Q: @

b) What is the ratio of the number of women to the number of boys?

c) If some more girls arrive at the bus stop and the ratio of the number of adults to the
number of children is now 2:1, find the number of girls who arrived.

lb 0\(1.-.)’1“.‘)) MUY \;(-l B K;(Jﬁ

d) All of the people originally at the bus stop board a bus. The ratio of the number of
men to the number of women to the number of children on the bus is 3:2:1. If there
were no children already on the bus, find the smallest number of men that could have
been on the bus before the new people boarded.

mon Women Childres

' 3 L l v bt
<\0 , | it
'm(r\ . %‘/

N 14 1°

i bodRpe

-1 =(u 1o 1224
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Name: School Team:

/f/—
Circle your final
Event 5: Team Problems (with calculator)

Part 4: Percent Problem Solving (5 points each)

Remember to simplify all fractions if able!

4,
a) 20% of a class of 40 students play volleyball, 15% of the class plays basketball, 35%
of the class plays football and 50% of the rest of the students play soccer. If no

student plays 2 sports, how many students play soccer? 10% st Yo is Y
7 vollewbel A of Hois - é
L hy&{?ﬁ*b“\ o - '
|17 Foct 50 ok Ho ~5—(,,4“]) =509 of 2 =6

b) Tyrone has 20% more balloons than Riyah. If Tyrone gives 10 balloons to Riyah,
they will have the same number of balloons. How many balloons does Riyah have?

. ) '-A70 flor2=20
Tﬂ[ 082S bulaons C LT A0

Ricphts lons

¢) August and Gavin collect toy cars. August has 320% more toys cars than Gavin. If
Gavin has 60 toy cars, how many toy cars does August have?

(LC 2 100°%
12— 2%

\ 0= ?)QOO/D ( ‘D - \’)0\5 150 -}9;360\%
VA '

(o150 ¥12= Pl

d) Madlyn has 15% more flowers in her garden than April has in her garden. 1f Madlyn
has 46 flowers in her garden, how many flowers does April have in her garden?

SRR L/ AN T
’Z?@ - 57, )7 /P)Pf" hes O

°/>XLo \ Clowes 11 \Wf/

Q/L{O ) IOO Ql/ 3 (Qo\rli(fr\ ///

"'w________'___'____,



5t — gth grades 2016

Name: School Teamn:

TIE BREAKER
Find the next value in each of the following patterns:
) 1,1,2,3,5,813,21, 31
2) 3,6,8, 16,18, 36,38, Tb_
3) 98,96, 92, 86, 78, 68, _5£
4) -14,-12, -8, -2, _L,_

5) 5,9,7,11,9,13, ||




